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G4-M3-Topic G 
 
 
G4-M3-L26:  Consider using the attached subset as a lead-in to the Problem Set. 
 
 
G4-M3-L27:  Consider this subset as a lead-in to the Problem Set. 
 
 
G4-M3-L28:  Consider using the attached subset as a lead-in to the Problem Set. 
 
 
G4-M3-L29:  Consider using the attached subset as a lead-in to the Problem Set. 
 
 
G4-M3-L30:  Consider using the attached subset as a lead-in to the Problem Set. 
 
 
G4-M3-L31:  For remediation, consider changing the following numbers on the Problem Set. 
 

• #1 – change 312 to 488 

• #2 – change 2,365 to 2,555 

• #3 – change 1,503 to 1,536 

• #4 – change 2,400 to 5,400 

• #5 – change 1,005 to 5,005 

 
 
G4-M3-L32:  If the Problem Set is too challenging, consider reusing portions of lesson 26-31 
subsets. 
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G4-M3-L26 Subset 
 
 

1. Count by twos to 8.  _____     _____     _____     _____ 

2. 4 x 2 =  _____ 

3. 8 ÷ 2 =  _____ 

4. 8 cars ÷ 2 =  _____ cars 

5. 8 dogs ÷ 2 =  _____ dogs 

6. 8 ones ÷ 2 =  _____ ones 

7. 8 tens ÷ 2 =  _____ tens 

8. 80 ÷ 2 =  _____ 

9. 8 hundreds ÷ 2 =  _____ hundreds 

10. 800 ÷ 2 =  _____ 

11. 8 thousands ÷ 2 =  _____ thousands 

12. 8,000 ÷ 2 = 
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G4-M3-L27 Subset 
 

1) 4 ÷ 2 = 

2) 84 ÷ 2 = 

3) 684 ÷ 2 = 

4) 6 ÷ 3 = 

5) 96 ÷ 3 = 

6) 396 ÷ 3 = 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



www.teacherbilldavidson.com  *  bdavidson40@gmail.com  *  @billdavidsoniii 

 
 
G4-M3-L28 Subset 
 
1)  Skip count the first ten multiples of 2, 3, 4, and 5. 
 

2 
          

3 
          

4 
          

5 
          

 

1) 6 ÷ 2 = 

2) 86 ÷ 2 = 

3) 486 ÷ 2 = 

4) 9 ÷ 3 = 

5) 39 ÷ 3 = 

6) 639 ÷ 3 = 

7) 8 ÷ 4 = 

8) 48 ÷ 4 = 

9) 848 ÷ 4 = 

10)  5 ÷ 5 = 

11) 25 ÷ 5 = 

12) 525 ÷ 5 = 
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G4-M3-L29:  Subset 
 
1)  Skip count the first ten multiples of 2, 3, 4, and 5. 
 

2 
          

3 
          

4 
          

5 
          

 
 

1) 8 ÷ 2 = 

2) 48 ÷ 2 = 

3) 648 ÷ 2 = 

4) 8648 ÷ 2 = 

5) 6 ÷ 3 = 

6) 96 ÷ 3 = 

7) 639 ÷ 3 = 

8) 9639 ÷ 3 = 

9) 8 ÷ 4 = 

10) 848 ÷ 4 = 

11) 4848 ÷ 4 = 

12)  5 ÷ 5 = 

13) 25 ÷ 5 = 

14) 525 ÷ 5 = 

15) 6525 ÷ 5 = 
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G4-M3-L30 Subset 
 
1)  Skip count the first ten multiples of 2, 3, 4, and 5. 
 

2 
          

3 
          

4 
          

5 
          

 
 

1) 8 ÷ 2 = 

2) 48 ÷ 2 = 

3) 648 ÷ 2 = 

4) 8648 ÷ 2 = 

5) 6 ÷ 3 = 

6) 96 ÷ 3 = 

7) 639 ÷ 3 = 

8) 9639 ÷ 3 = 

9) 8 ÷ 4 = 

10) 848 ÷ 4 = 

11) 4848 ÷ 4 = 

12)  5 ÷ 5 = 

13) 25 ÷ 5 = 

14) 525 ÷ 5 = 

15) 6525 ÷ 5 = 


